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1 |Jlosa Monanra Bornanisua 90| 81 | 93|91 90 90 87 86 91 | 87 | 88,60
2 [demkiB Mapis MuxaiiniBHa 711 81 | 98] 90| 93 92 84 93 91 | 87 | 88,00
3 [I'pomuk Mapis IropiBHa 721 75 191]191] 90 | 91 71 91 | 90 | 89 | 85,10
4 gzgeg_o‘*z"“a tOms-Onexcannpa | 75| 71 | 99| 72| 70 | 81 | 76 | 84 | 80 | 80 | 77,70
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5 [Jlemmmun Haranis I'puropisra | 90 | 84 [ 83| 64| 66 | 73 70 78 | 75 | 74 | 75,70
6 [biae Codis OneriBHa 70| 81 | 90| 68| 68 73 71 77 76 | 70 | 74,40

Jexan KaH. Aepk.ymp. beskoposaitna V.10.




